Chapter 5

Test Review




Evaluate the integral. (p. 282 #7)
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Evaluate the integral.
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Evaluate the integral. (p. 316 #27)
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Use properties of integrals to answer the
following (p. 290 #1)

[[fydx=—4 [ f()dx=6 [ g(x)dr=8

a) ng(x)dx=0 b.ﬂg(x)dx=f>¢ =8
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Use properties of integrals to answer the
following (p. 290 #1)

ff(x)dx=-4 ff(x)dx=6 fg(.x)dx=3
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Use properties of integrals to answer the
following (p. 286 Ex. 1)
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Find the average value of the function using

antiderivatives p. 29132
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Find dy/dx p. 302 15




Find dy/dx p. 302 20
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Find the average value of Vcosx on the

interval [-1,1] p. 30352
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H(x)= [ f(1)dt, where f is the continuous function p.30357

with domain [0,] 2] glﬂphed here. Aren «— W= LI- (¢)dL
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H(x)= L f(1)dt, where f is the continuous function p.30357
with domain [0,12] graphed here.

¥ b) On what interval is H increasing. Explain
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H(x)= [ f(t)dt, where f is the continuous function p.30357

with domain [0,12] graphed here. W' = £
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H(x)= .L f(0)dt, where f is the continuous function p.30357
with domain [0,12] graphed here.

y d) Is H(12) positive or negatwe Explain
)= 5 o > 0
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H(x)= I [ (r)dt, where f is the continuous function p-30357
The te ~ from po s tiee
with domain [0,12] graphed here. i s s
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) Where does H achieveits maximum value. Explain
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H(x)= L f(1)dt, where f is the continuous function p.30357
with domain [0,12] graphed here.

¢) Where does H achieve its minimum value. Explain
1 X=0 becevvse W > 0

%b\ }‘ﬂ.ﬁ-ﬂ (}kt ath]ﬁ Lé H('r-\) {) "‘lw’-jﬂ
s abor +he X-axi3 |
z p—

E 1IN LR L i P
1 4 81042 ! W'%U i
| K? )= 0?0




f is the differentiable function whose graph is shown.

The position at time t(sec) of a particle moving 52 J,db> 4%
- £'(3)
along a coordinate axisis s = '[: S (x)dx :: o 1D
y a) What is the particles velocity at time t =5?
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f is the differentiable function whose graph is shown.

The position at time t(sec) of a particle moving

p.304 58

along a coordinate axisis s = -[: Jf(x)dx
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1b) Is the acceleration at time t = 5 positive or negative?
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f is the differentiable function whose graph is shown. 30458
The position at time t(sec) of a particle moving

along a coordinate axis is s = J: S (x)dx

¢) What is the particles position at time t =37
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f is the differentiable function whose graph is shown. 30458
The position at time t(sec) of a particle moving

along a coordinate axisis s = '[: Jf(x)dx
d) At what time during the first 9 seconds does
s have its largest valu::e?
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f is the differentiable function whose graph is shown.

p.304 58
The position at time t(sec) of a particle moving
along a coordinate axisis s = '[: Jf(x)dx
y e) Approximately when is acceleration 07?
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f is the differentiable function whose graph is shown. 30458
The position at time t(sec) of a particle moving

along a coordinate axisis s = '[: Jf(x)dx
f) When is the particle moving toward the origin?

Away from the origin?
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f is the differentiable function whose graph is shown.

p.304 58
The position at time t(sec) of a particle moving

along a coordinate axisis s = -[: Jf(x)dx

£) On which side of the origin does the particle
oA lie at time t=9?

| 2.2 {5.2) G \J"\.*‘ side

q
(A
| . — LECM‘E\Q jb-ﬂx)dx > J{:ﬂ‘)ﬂli

.t

- e




Evaluate the integral. (p. 291 #19)
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Evaluate the integral. (p. 291 #20)
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Evaluate the integral. (p. 291 #21)
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Evaluate the integral. (p. 291 #30)
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RQIEMANN SumsS
Use the data below to approximate the area under
the curve using the Trapezoid Rule with 4 sub-
intervals.
t 0 2 5 9 10

%’H(h.ﬂh

A= %(1)(661—“} + 12

A=5245

(3‘3(1,0»51\ »ji('ﬁ('b’- W) | é (1) (‘ﬁ +4 3‘)




Use the data below to approximate the area under
the curve using a Right Riemann Sum with
4 sub-intervals.

t 0 2 5 9 10
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Use the data below to approximate the area under
the curve using a Left Riemann Sum with
4 sub-intervals.

t 0 2 5 9 10

o ¢ - - =

K= 2(e6) + 3(60) + 4(52) + 1(4)
A =564




